@j

neljd desimaalia, toimintojen jérjestys suluilla

(36 +6—4,5)x5,6=

20(4,1+3,3)+5=

(36+6-2,8)x5,9 =

(6,5+6,5)x2,1+4,6=

(5,6 —4,1)x 4,6+5,6=

Paivamaara: Pisteet:

15(3,6+2,5)+ 5=

(4,2-6,3)x3,3-3 =

3,8+3(4,7-2,6)=

(5+5,5)%6,2+2,5=

5,3-5,6(5,3+3,9)=
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neljd desimaalia, toimintojen jérjestys suluilla

(36+6—4,5)x5,6=84

20(4,1+3,3)+5=29.6

(36 +6-2,8) x5,9 = 18.88

(6,5+6,5)x2,1+4,6=319

(5,6 —-4,1)x4,6+5,6=125

Paivamaara: Pisteet:

15(3,6+2,5)+5 =183

(4,2-6,3)x3,3—3=-993

3,8+3(4,7-2,6)=10.1

(5+5,5)%x6,2+2,5=67.6

5,3-5,6(5,3+3,9)= —46.22
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